

vee quiva

MATINEE SESSION

EARLY BIRDS START AT 12PM

MONEY BALL



RIVER BALL **BONUS**



IT'S THE PLAYER'S RESPONSIBILITY TO: CHECK RECEIPT FOR ACCURACY, YELL "BINGO" LOUD & CLEAR, BE PRESENT TO VERIFY BINGO.



\$1-3 on Pack

BINGO • 00 MULTICOLOR

REGULAR BINGO 4 CORNERS OR STAMP

EACH PAYS \$50

B13 MAIN PACK



DOUBLE FLAGS (ONE WAY ONLY)

Level 1 pays \$300 Level 2 pays \$600

B19 MAIN PACK



BINGO

TAN

LETTER "V"

Level 1 pays \$300 Level 2 pays \$600

B6 MYSTERY MONEY\$3-6 on Pack (all 3 Games)



HARDWAY BINGO

5X LAST NUMBER CALLED Minimum \$200

B14 DIAMOND PROGRESSIVE + \$3-3 on



DIAMOND SPECIAL

Progressive starts at \$10,000 Hit in 18 numbers or less Progressive consolations go to 29th number

Consolation \$500

B20 3-PART JACKPOT SPECIAL



TWO LAYER CAKE

PAYS \$200

B7 MYSTERY MONEY



VERTICAL & HORIZONTAL BINGO

10X LAST NUMBER CALLED Minimum \$300

B15 MAIN PACK



EIGHT PACK IN A CORNER

Level 1 pays \$300 Level 2 pays \$600

BINGO

PART 2: THREE LAYER CAKE

PAYS \$300

MYSTERY MONEY



SMALL PICTURE FRAME

15X LAST NUMBER CALLED Minimum \$500

B16 DOUBLE ACTION SPECIAL \$2 EACH



BLUE

DOUBLE ACTION

Jackpot starts at 33#'s and \$2,500. Number increases every 7 days \$100 added per session. Consolation \$600

B I N G O TAN

PART 3: COVERALL

Jackpot starts at 48#'s and \$2.500. Number increases every 5 days \$100 added per session. Consolation \$500

B9 MAIN PACK



DOUBLE HARDWAY

Level 1 pays \$300 Level 2 pays \$600

30 MINUTE **INTERMISSION**

B21 MAIN PACK (PART ONE)



PART 1: HARDWAY SIX PACK

> Level 1 pays \$300 Level 2 pays \$600

B10 CRAZY "8"s SPECIAL

\$2-3 on



CRAZY "8"s

Winner picks an envelope. Prizes from \$388 to \$888. Multiple winners split the highest prize chosen.

B17 MAIN PACK



HARDWAY BINGO & HARDWAY SIX PACK NO OVERLAP

> Level 1 pays \$300 Level 2 pays \$600

B22 MAIN PACK (PART TWO)



PART 2: 12 PACK ANYWHERE

> Level 1 pays \$300 Level 2 pays \$600

B11 MAIN PACK



SPIDER

Level 1 pays \$300 Level 2 pays \$600

B18 BONANZA SPECIAL \$2-3 on (\$2 Trade-in)



BONANZA COVERALL

Jackpot begins at \$7,500. Jackpot in 50#'s or less. 51#'s pays 20% of Jackpot. 52#'s pays 10% of Jackpot.

Consolation \$500

B23 TRIPLE PLAY COVERALL SPECIAL \$3-3 on



TOP CARD PAYS \$1,000 Starts at 52#'s and increase

MIDDLE CARD PAYS \$5,000

BOTTOM CARD PAYS \$9,500 Starts at 48#'s and increases every 7 days

Consolation \$500

B12 ODD/EVEN COVERALL SPECIAL \$2-3 on



ODD/EVEN

Jackpot starts at 48#'s and \$2,500. Number increases every 7 days. \$100 added per session. The date determines Odd or Even.

Consolation \$500

B24 MAIN PACK



DOUBLE "X" (ONE WAY ONLY)

Level 1 pays \$300 Level 2 pays \$600

MATINEE PRICING

PAPER BUY-INS INCLUDE:

Level 1 - \$25 (2 Level Ones) (1 ea. - Crazy "8"s, Odd/Even, Diamond, 3 Part, and Triple Play)

Level 2 - \$35 (2 Level Twos) (1 ea. - Crazy "8"s, Odd/Even, Diamond, 3 Part, and Triple Play)

PAPER BUY-INS DO NOT INCLUDE:

Money Ball, Early Bird, Mystery Money, Double Action, Bonanza, or River Ball

ELECTRONIC PACKAGES

LEVEL "1" - PLAY IT ALL (\$35)	LEVEL "2" - PLAY IT ALL (\$45)	EARTH PLAY IT ALL (\$45)
2 - Level One Main Game Books	2 - Level Two Main Game Books	11 - Level Ones & 4 - Level Twos
1 - Money Ball & Early Bird	1 - Money Ball & Early Bird	1 - Money Ball & Early Bird
1 - Mystery Money, Crazy "8"s & Odd/Even	1 - Mystery Money, Crazy "8"s & Odd/Even	1 - Mystery Money, Crazy "8"s & Odd/Even
1 - Diamond, Double Action & Bonanza	1 - Diamond, Double Action & Bonanza	1 - Diamond, Double Action & Bonanza
1 - 3-Part Jackpot & Triple Play	1 - 3-Part Jackpot & Triple Play	1 - 3-Part Jackpot & Triple Play
(Does Not include the River Ball)	(Does Not include the River Ball)	(Does Not include the River Ball)

MOON PLAY IT ALL (\$65)	STAR PLAY IT ALL (\$85)	GALAXY PLAY IT ALL (\$105)
19 - Level Ones & 8 - Level Twos	28 - Level Ones & 10 - Level Twos	38 - Level Ones & 12 - Level Twos
1 - Money Ball & Early Bird	1 - Money Ball & Early Bird	1 - Money Ball & Early Bird
2 - Mystery Money, Crazy "8"s & Odd/Even	2 - Mystery Money, Crazy "8"s & Odd/Even	3 - Mystery Money, Crazy "8"s & Odd/Even
2 - Diamond, Double Action & Bonanza	2 - Diamond, Double Action & Bonanza	3 - Diamond, Double Action & Bonanza
2 - 3-Part Jackpot & Triple Play	2 - 3-Part Jackpot & Triple Play	3 - 3-Part Jackpot & Triple Play
(Does Not include the River Ball)	(Does Not include the River Ball)	(Does Not include the River Ball)

CLUB CLASSIC (\$55)
15 - Level Ones & 5 - Level Twos
1 - Money Ball & Early Bird
2 - Mystery Money, Crazy "8"s & Odd/Even
2 - Diamond, Double Action & Bonanza
2 - 3-Part Jackpot & Triple Play
(Does Not include the River Ball)

EXTRAS	
Level 1 Extra Book	\$5
Level 2 Extra Book	\$10
Early Bird (3-on)	\$1
Mystery Money (6-on)	\$3
Crazy "8"s (3-on)	\$2
Odd/Even (3-on)	\$2
Diamond + Progressive (3-on)	\$3
3-Part Jackpot Special (3-on)	\$3
Triple Play Coverall (3-on)	\$3
Jackpot Pack (5 Specials Above)	\$12
Double Action (1-on)	\$2
Bonanza (3-on)	\$2
Bonanza Trade-in (3-on)	\$2
Money Ball	\$2
River Ball Bonus	\$3

MATINEE PAYOUTS
LEVEL 1 - \$300

MATINEE PAYOUTS LEVEL 2 - \$600

MONEY BALL \$2

RIVER BALL BONUS \$3

BINGO ON MONEY BALL
WIN DAILY MONEY BALL JACKPOT

BINGO ON MONEY BALL + 1 RIVER BALL IN PATTERN
WIN EXTRA \$1,199

BINGO ON MONEY BALL + BOTH RIVER BALLS IN PATTERN WIN EXTRA \$2,500

MULTIPLE WINNERS WILL SPLIT THE PRIZE

BINGO WITH TWO OUT OF THREE BALLS IN THE PATTERN (Money Ball and/or River Balls) WIN AN EXTRA \$500

RIVER BALL NOT ELIGIBLE ON 2ND CHANCE BINGO

SUNDAY 2ND CHANCE BINGO PAYS \$300 ON ALL MAIN GAMES

1ST CHANCE WINNERS ARE NOT ELIGIBLE FOR THE 2ND CHANCE ON THE SAME CENTER NUMBER

The Bonanza game will not be played if both bingo consoles are not operational.

GRATUITIES ACCEPTED AND GREATLY APPRECIATED!

The Gila River Casinos are owned and operated by the Gila River Indian Community.

Management reserves the right to cancel or change any program or promotion at any time.



EVENING SESSION

EARLY BIRDS START AT 6:30PM

MONEY BALL



RIVER BALL BONUS



IT'S THE PLAYER'S RESPONSIBILITY TO: CHECK RECEIPT FOR ACCURACY, YELL "BINGO" LOUD & CLEAR, BE PRESENT TO VERIFY BINGO.

B1 EARLY BIRDS

T B I N G O

MULTICOL OR

REGULAR BINGO 4 CORNERS OR STAMP

\$1-3 on Pack

EACH PAYS \$50

B13 ODD/EVEN COVERALL SPECIAL \$2-3 on



ODD/EVEN Jackpot starts at 48#'s and \$2,500. Number increases every 7 days. \$100 added per session. The date determines Odd or Even.

Consolation \$500

B20 MAIN PACK



LADDER (ONE WAY ONLY)

Level 1 pays \$600 Level 2 pays \$1,199

B6 MYSTERY MONEY \$3-6 on Pack



HARDWAY BINGO

5X LAST NUMBER CALLED Minimum \$200

B14 DIAMOND PROGRESSIVE + \$3-3 on



DIAMOND SPECIAL

Progressive starts at \$10,000 Hit in 18 numbers or less. Progressive consolations go to the 29th number Consolation \$500

B21 3-PART JACKPOT SPECIAL \$3-3 on



PART 1: TWO LAYER CAKE

PAYS \$200

B7 MYSTERY MONEY



VERTICAL & HORIZONTAL BINGO

10X LAST NUMBER CALLED Minimum \$300

B15 MAIN PACK



PART 1: CRAZY "7" FORWARD OR BACKWARD

Level 1 pays \$600 Level 2 pays \$1,199 BINGO BLUE

PART 2: THREE LAYER CAKE

PAYS \$300

B8 MYSTERY MONEY



SMALL PICTURE FRAME

15X LAST NUMBER CALLED Minimum \$500

B16 MAIN PACK



PART 2: HOURGLASS

Level 1 pays \$600 Level 2 pays \$1,199 B I N G O

PART 3: COVERALL

Jackpot starts at 48#'s and \$2,500. mber increases every 5 days \$100 added per session.

Consolation \$500

B9 MAIN PACK



PART 1: TIRE TRACKS

VERTICAL OR HORIZONTAL

Level 1 pays \$600 Level 2 pays \$1,199 **B17** DOUBLE ACTION SPECIAL \$2 EACH



DOUBLE ACTION

Jackpot starts at 33#'s and \$2,500. Number increases every 7 days. Number increases every 7 \$100 added per session Consolation \$600

B22 MAIN PACK



EIGHT PACK ANYWHERE

Level 1 pays \$600 Level 2 pays \$1,199

B10 MAIN PACK



PART 2: INTERSECTION

Level 1 pays \$600 Level 2 pays \$1,199

30 MINUTE **INTERMISSION** B23 MAIN PACK



CRAZY LETTER "L"

Level 1 pays \$600 Level 2 pays \$1,199

B11 CRAZY "8"s SPECIAL

\$2-3 on

BINGO GREEN

CRAZY "8"s

Winner picks an envelope. Prizes from \$388 to \$888. Multiple winners split the highest prize chosen.

B18 MAIN PACK



HARDWAY BINGO & HARDWAY SIX PACK NO OVERLAP

> Level 1 pays \$600 Level 2 pays \$1,199

B24 TRIPLE PLAY COVERALL SPECIAL \$3-3 on



TOP CARD PAYS \$1,000 Starts at 52#'s and increases da

MIDDLE CARD PAYS \$5,000 **BOTTOM CARD PAYS \$9,500**

Consolation \$500

B12 MAIN PACK



LARGE CRAZY KITE

Level 1 pays \$600 Level 2 pays \$1,199 B19 BONANZA SPECIAL \$2-3 on (\$2 Trade-in)



BONANZA COVERALL

Jackpot begins at \$7,500. Jackpot 50#'s or less. 51#'s pays 20% of Jackpot. 52#'s pays 10% of Jackpot.

Consolation \$500

B25 MAIN PACK



THREE POSTAGE STAMPS

Level 1 pays \$600 Level 2 pays \$1,199

VQEVE112023

EVENING PRICING

PAPER BUY-INS INCLUDE:

Level 1 - \$30 (2 Level Ones) (1 ea. - Crazy "8"s, Odd/Even, Diamond, 3 Part, and Triple Play)

Level 2 - \$40 (2 Level Twos) (1 ea. - Crazy "8"s, Odd/Even, Diamond, 3 Part, and Triple Play)

PAPER BUY-INS DO NOT INCLUDE:

Money Ball, Early Bird, Mystery Money, Double Action, Bonanza, or River Ball

ELECTRONIC PACKAGES

LEVEL "1" - PLAY IT ALL (\$40)	LEVEL "2" - PLAY IT ALL (\$50)	EARTH PLAY IT ALL (\$50)
2 - Level One Main Game Books	2 - Level Two Main Game Books	11 - Level Ones & 4 - Level Twos
1 - Money Ball & Early Bird	1 - Money Ball & Early Bird	1 - Money Ball & Early Bird
1 - Mystery Money, Crazy "8"s & Odd/Even	1 - Mystery Money, Crazy "8"s & Odd/Even	1 - Mystery Money, Crazy "8"s & Odd/Even
1 - Diamond & Triple Play	1 - Diamond & Triple Play	1 - Diamond & Triple Play
1 - Double Action, 3-Part & Bonanza	1 - Double Action, 3-Part & Bonanza	1 - Double Action, 3-Part & Bonanza
(Does Not include the River Ball)	(Does Not include the River Ball)	(Does Not include the River Ball)

MOON PLAY IT ALL (\$70)	STAR PLAY IT ALL (\$90)	GALAXY PLAY IT ALL (\$120)
19 - Level Ones & 8 - Level Twos	28 - Level Ones & 10 - Level Twos	38 - Level Ones & 12 - Level Twos
1 - Money Ball & Early Bird	1 - Money Ball & Early Bird	1 - Money Ball & Early Bird
2 - Mystery Money, Crazy "8"s & Odd/Even	2 - Mystery Money, Crazy "8"s & Odd/Even	3 - Mystery Money, Crazy "8"s & Odd/Even
2 - Diamond & Triple Play	2 - Diamond & Triple Play	3 - Diamond & Triple Play
2 - Double Action, 3-Part & Bonanza	2 - Double Action, 3-Part & Bonanza	3 - Double Action, 3-Part & Bonanza
(Does Not include the River Ball)	(Does Not include the River Ball)	(Does Not include River the Ball)

CLUB CLASSIC (\$60)
15 - Level Ones & 5 - Level Twos
1 - Money Ball & Early Bird
2 - Mystery Money, Crazy "8"s &
Odd/Even
2 - Diamond & Triple Play
2 - Double Action, 3-Part & Bonanza
(Does Not include the River Ball)

EXTRAS	
Level 1 Extra Book	\$8
Level 2 Extra Book	\$13
Early Bird (3-on)	\$1
Mystery Money (6-on)	\$3
Crazy "8"s (3-on)	\$2
Odd/Even (3-on)	\$2
Diamond + Progressive (3-on)	\$3
3-Part Special (3-on)	\$3
Triple Play Coverall (3-on)	\$3
Jackpot Pack (5 Specials Above)	\$12
Double Action (1-on)	\$2
Bonanza (3-on)	\$2
Bonanza Trade-in (3-on)	\$2
Money Ball	\$2
River Ball Bonus	\$3

EVENING PAYOUTS
LEVEL 1 - \$600

EVENING PAYOUTS LEVEL 2 - \$1,199

MONEY BALL \$2

RIVER BALL BONUS \$3

BINGO ON MONEY BALL
WIN DAILY MONEY BALL JACKPOT

BINGO ON MONEY BALL + 1 RIVER BALL IN PATTERN WIN EXTRA \$1,199

BINGO ON MONEY BALL + BOTH RIVER BALLS IN PATTERN WIN EXTRA \$2,500

BINGO WITH TWO OUT OF THREE BALLS IN THE PATTERN (Money Ball and/or River Balls) WIN AN EXTRA \$500

RIVER BALL NOT ELIGIBLE ON 2ND CHANCE BINGO

SUNDAY 2ND CHANCE BINGO PAYS \$300 ON ALL MAIN GAMES

1ST CHANCE WINNERS ARE NOT ELIGIBLE FOR THE 2ND CHANCE ON THE SAME CENTER NUMBER

The Bonanza game will not be played if both bingo consoles are not operational.